FRoBLEM .29

(@) A+ o tewiperature of 140% | Hhe Specitied pressuve of |25 MPa Jalls
betweew Hee tobe values of 1.0 and 1S MPesa . To delevmive the specific
volume corresponciing fo 125 MPa  we think of the slope of a

Straight lise joiming” the adjaceut table states, as follows:
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behween Hae tulde values “of 290 and 2@0%. To dedermine +he teapemture
corresperding Jo Hie gwen specthic yslume | we trinke of He slope oF o
shetg it \ine” jovining the adjaceut toble states,as follows:
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(c) Tnthis case, the specifiéd pressure Falls between the tuble values of 1.0
and 1.5 MPa and Hie specified femperature faulls between Hie tuble values

of 200 and 240C . Thus, double fwierpolation is mﬁmi-cd.
. At 220%, the specifie Volume cd each pressure is Simply He averge
over He [njerved ! g d
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PRDBLEM .32
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PROBLEM .49

For the water vapor in Hhe tank, Hhe p-v-T relation is
faule p= (0595 T/ (U-0.2108)] - 63.3L/U"
water whare 1 is in A7k, Tis in °&, and pis tu bFliu™
vepor Solving iterahvely for v at p=is00 lefli?, T=1140°R
\ weget  4r-0.680 #¥
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